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Question One:

(1) Write the solution set for each of the following open sentences :
a)  2x - 1< 5, x ( N.

……………………………...…………………………………...……
b)  x2 + 5x + 6 = 0 , x( Z

……………………………...…………………………………...……
c)  x + y =5 ,   x , y(N 

……………………………...…………………………………...……
(2) Complete:
I. Any pairs of open sentences are equivalent if and only if  …….
………………………………………

II. The substitution set is …………

  ………………………………………

(3) In the following table there are number of terms, determine the coefficient and the degree of each:

	The Term
	Coefficient
	Degree

	(2 x3
	
	

	3.5 y
	
	

	-3/2
	
	


(4) From the algebraic term 9x4  :

9 is called…………………………

x is called ………………………..

4 is called ………………………...

(5) The general form of the polynomial of degree n is:

…………………………………..…………………………………….….

Question Two:

(1) Determine the degree of the following polynomials and the values of a3 , a2 , a1 , a0 :
	The polynomial
	n
	a3
	a2
	a1
	a0

	4x3 – 2x2 +5x + 1
	
	
	
	
	

	x4 – 3x2 + 3x 
	
	
	
	
	

	5x + 6
	
	
	
	
	


(2) Factorize the following polynomials:
a) x2 – 2x – 8

……………………………...…
b) x2 – 14 x + 24.

……………………………...……
c) 3x2 – 12 x – 15

……………………………...…………………………………...…………………………………...……
d) 2x2 – 3x + 1

……………………………...…………………………………...………………………………..
e) x2 – 16

……………………………...………………………………...…
f) 2x2 – 8

……………………………...………………………………...…
g) 5 x2 – 5 

……………………………...………………………………...………

h) 12 - x – x2  

…………………………...…………………………………...…………………………………...………

(3) Find the solution set of the following equation in R:

a)  4x2 + 11x + 6 = 0

……………………………...………………………………...………………………………...………………………………...………………………………...………………………………...………………………………...…
b)  x2 – 6x + 5 = 0

……………………………...………………………………...………………………………...………………………………...………………………………...………………………………...…
c) ( x - 4 )2 + ( x - 4) = 0

……………………………...………………………………...………………………………...…

d)  x ( x – 3) = -2

……………………………...………………………………...………………………………...………………………………...………………………………...………………………………...…
e) ( x – 3 )2 = 9

……………………………...………………………………...………………………………...………………………………...………………………………...…
(4) Use the general rule ( the formula)
to solve the equation:

a) 3x2 – 7x + 2 = 0

……………………………...………………………………...………………………………...………………………………...………………………………...……………………………………………...…………………………………...…………………………………...…………………………………...…………………………………...……
b) x2 – 7x + 12 = 0

……………………………...…………………………………...…………………………………...…………………………………...…………………………………...…………………………………...…………………………………...…………………………………...…………………………………...…………………………………...…………………………………...……
Question Three:

(1) The discriminate of the quadratic equation is b2 – 4ac , what do you know about this discriminate if the roots of the equation are:

1- Real difference.
……………………………...…...
2- Real equal.

……………………………...…...
3- Imaginary.

……………………………...…...
(2)  Find the discriminate to the equation 2x2 – 5x + 3 = 0, and then state the type of roots.
……………………………...…………………………………...…………………………………...…………………………………...…………………………………...…………………………………...…………………………………...…………………………………...……
(3) Find the value of K which makes the roots of the equation:

9x2 + K x + 4 = 0,  equal.

……………………………...…...……………………………...…...……………………………...…...……………………………...…...……………………………...…...……………………………...…...……………………………...…...……………………………...…...

(4) If 3 is one of the roots of the equation x2 + 2x + c = 0 , find the other root and the value of c.

……………………………...…...……………………………...…...……………………………...…...……………………………...…...……………………………...…...……………………………...…...……………………………...…...……………………………...…...
Good Luck
وتنداح دائرة الابداع
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